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Sketch the graph of each function.

1)  f (x) = −2x2 − 8x − 6
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2)  f (x) = x2 + 8x + 15
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3)  f (x) = −x2 + 4x − 1
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4)  f (x) = −2x2 − 4x

x

y

−9 −8 −7 −6 −5 −4 −3 −2 −1 1

−7

−6

−5

−4

−3

−2

−1

1

2

3



©x Q2P0f1V8[ CKPuztnaj zSkoGfktKwOakrOei EL`LICL.b [ HAjlylR Urbiegdhetzsw erWexspeEryvCeXdX.l I CMQaQdXez Pw[i]tnh\ ZIwnKfwibnUiAtMeh PADlxgMeXbIrCaD r1x.

Worksheet by Kuta Software LLC-2-

5)  f (x) = 2x2 + 8x + 6
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6)  f (x) = −x2 − 6x − 8
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7)  f (x) = 2x2 − 8x + 7
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8)  f (x) = −x2 + 8x − 13
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9)  f (x) = x2 + 8x + 12
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10)  f (x) = −4x2 + 16x − 12
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11)  f (x) = 2x2 − 16x + 28
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12)  f (x) = 4x2 − 8x + 6
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13)  f (x) = 3x2 + 18x + 24
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14)  f (x) = −x2 + 8x − 12
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15)  f (x) = −2x2 − 16x − 28
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16)  f (x) = x2 − 4x + 2
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17)  f (x) = −2x2 − 8x − 5
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18)  f (x) = −x2 − 8x − 14
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19)  f (x) = 2x2 − 8x + 12
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20)  f (x) = x2 − 8x + 13
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